ICM  Functions

1. Graph each piecewise function:
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2. Write a piecewise function for each graph:
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3. The minimum payment on a credit card is based on the total amount owed. A credit card company
uses the following rules: For a bill less than $10 the entire amount is due. For a bill of at
least $10 but less than $500, the minimum due is $10. There is a minimum of $30 due ona
bill of at least $500 but less than $1000, a minimum of $50 due on a bill of at least $1000,
but less than $1500, and a minimum of $70 is due on bills $1500 or more.

a. Find the function #that describes the minimum payment due on a bill of x dollars.
b. Graph the function.

4. An air conditioning salesperson receives a base salary of $2850 per month plus a commission.
The commission is 2% of the sales up to and including $25,000 for the month and 5% of the
sales over $25,000 for the month.

a. Write a piecewise function that relates the salesperson's total monthly income
based of f or his/her sales for the month.

b. Determine the salesperson’'s monthly income if his/her sales were $43,000 for the
month.

5. You have a summer job that pays time and a half for overtime (if you work more than 40 hours
per week). Beyond 40 hours, your compensation is 1.5 times your hourly rate of $8.00.

a. Write a piecewise function that gives your weekly pay, P, in terms of the number of
hours worked, x.
b. How much will you make if you work 45 hours?
6. Write and graph a piecewise function for the following sign:
$3 per half hour

$8 maximum for 12 hours




3y Let x = ams. ow ed +&)= min, peegreent ducer

¥ 5, X <D
i IO M LSTO
| F0<)= 30 ) 500 £ X < looo
] | So | lboo £ X £ \5oo
X Z ISo0o
e———=o©
4'-1'.‘—“% — 4 -
VVVVV 1000 VSoo S

a,rmww% owec\ ((ho¥ 4o scale) |

L} >L€+ X = awt, DF Sales = £ (%)= Joted \MOV\JHA'(A—l Pcone.
)= 28650+ a02X (=X £ 25000

0 s ol
= i'.m_(?,smﬂ +-0§(%cﬁb*7,gmn
5. x=# g worked  Ple)= weerly pay anmdt.
— %9: Bx , X =4O

e(Uo)+ 1a(x-40) ,x¥40 > 12x-160 -

D) 12(as) - |uo :\E

(s >
, 3 5 0<x<c0O.S
=)= 4 b pcéx<|
§ | exail




